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Circle

(Practice Set 42)

1. Complete the table below.

Sr. No. | Radius () | Diameter (d) | Circumference (c)
(1) Tem | e | e
a) | o 28cm | ...
(i) | e e 616 cm
av) | | 72.6 cm
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Sr. No. | Radius (r) |Diameter (d) | Circumference (c)
(i) 7 cm AHem Lbem
(ii) L8 em 28 cm 88 ¢m
(111) J8.cm 136<m 616 cm
(iv) 11:55 cm |  23:10cm 72.6 cm
2. If the circumference of a circle 1s 176 cm, find its radius.
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3. The radius of a circular garden is 56 m. What would it cost to put a 4-round fence
around this garden at a rate of 40 rupees per metre ?
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4. The wheel of a bullock cart has a diameter of 1.4m. How many rotations will the
wheel complete as the cart travels 1.1 km ?
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